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MAY 2008 U/ID 46435/UCCE

Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.

All questions carry equal marks.

1.  Write down the procedure to tabulate f(x).
Tabulate f(x) (f(x)ar sl efessibd)-ar enmenw
GT'Q.P@]&

2.  Write down the procedure for back substitution
method.

Back substitution - wperperw er(pgis.

3.  What is mean by a Histogram?
Histogram eremmmed eremen?
4.  Define with an example of mode.

ClomenL 2 gTransgiLen euenywim).

5.  Give any three merits of mode.

GLomig 6T T BTeug) APETmI B GERT RIS 6T(PFI5.

6.  Define : Rank correlation.

&1 arflCavgeman (Rank correlation) euenywim.

7.  What are three types of Regression Analysis?
Regression Analysis (fléygen u@lumiey)er eperm
el risaner 6T (g1
8.  Define standard error of a statistic.
yeefludwellen Standard error (Hlenewren £HésL0)-aw
QeI
9. Define : primitive data type.

Primitive data type enw euenguimy.

» 1. What is circular queue?

el L eufleng eremmed eremen?
11. Define : Merge Sort.

Merge Sort-enw cuanyuimy.

12. What is Binary Tree?

Binary Tree (enuanifl oyid) erenmmed eremen?
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Answer any FIVE questions.

All questions carry equal marks.

13. Write an algorithm for Newton-Raphson method.
Bl Ler-Qrlger - wpenpulen auflpenmaaner
(algorithm) er(gis.

14. Find out Coefficient of Mean Deviation by using
Mean (X) from the following data :

Class: 0-3 3-6 6-9 9-12 12-15 15-18 18-21
Frequency: 2 7 10 12 9 G ik

syrefl  dlwsame  sprefl (X))  epod  Gemeumid

efleupisefien  apeid sraws. (Coefficient of Mean
Deviation).
ey : 0-3 3-6 6-9 9-12 12-15 15-18 18-21

Sweeuar: 2 7 10 12 9 6 4

15. Calculate Karl Pearson’s Coefficient of Skewness
from the data given below :

Value : 10 20 30 40 50 60 70
Frequency: 1 5 12 22 17 9 4
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Qermeumid efeurris@née aryo Gwiser Car L &0sw
srams. (Karl Pearson’s Coefficient of Skewness).

w iy : 10 20 30 40 50 60 70

SwoQeuar: 1 5 12 22 17 9 4

16. Find the Rank Correlation Coefficient from the
following data :

X:1 2 3 4 5667 891111213 141518
Y:151614 1510124 11 5 9 8.3 1 6 7 2
&7 2.meys Gawpemes (Rank Correlation Coefficient)
Aeeu(mid efleurmise epaib sam (il
X'y 2. .34 5 6 7.8 910 11 12 13 14 15 16

Y: 131614 1610124115 9 8 3 &1 6 7 2

17. From the following data, find two regression

equations :
X ¥
Arithmetic mean 36 85
Standard Deviation 11 8

Correlation coefficient between X and Y = 0.66
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Qeneugmid eleugrsaien Ly G Nérear swearur@eamar

STEHTE.
X Y
saflg syrefl 36 85
AL cflossid Ll 8

srfilGavear Qs (X wHmb Y e tiu L) =0.66

18. Explain the operations on queue.

auflensded
afeurfl.

Quisshisamer

QsweuRsgeusnE v

19. Explain the binary tree traversal.

@ e Wy LweTd eranuigear edleul.
PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.

All questions carry e;;lual marks.

20. Write an algorithm for secant method.
Exen_ (secant) wepudar auflppemaeaer (algorithm)
T(PEIS.
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21. Using Gauss elimination method solve the

following equations :

4X+Y +Z =4

X +4Y -27Z =4

3X +2Y -4Z =6.

sradlen  fE@sD  penaw uwau@SS e
FoaTUTHEmaT &iéa.

4X+Y+Z =4

X +4Y -2Z =4

3X +2Y -4Z =6.

22. From the following data, calculate the first four

moments about the value 15 and about mean. .

Class-interval : 0-10 10-20 20-30 3040

Frequency : 1 3 -+ 2

Gemeumn eleurmseieany, e BrenE pwer ey
(moments)-eow AL 15 apapd wHmID FFTEM ApaLPD
TGS .

Qfley-@eQeuafl :  0-10 10-20 20-30 30-40

iemaCeuarsar : 1 3 4 2
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[image: image4.jpg]23. Calculate the correlation coefficient between
heights of father and son from the given data :

Height of father o\ o 6 67 68 69 70
(in inches) :
Height ofson o0 o7 65 68 70 68 72
(in inches) :

Gemeumd speag-weaflar e wrksl @ @l Guuwrer
2 peys Qa(pameus samsdHs.

RIPREPEIN 81 65 86 57 88 89 0
(Grgosdd) :
2_WITLD D&

i s 66 67 65 68 70 68 72
(@riEosH®) :

24. Explain procedures for stack full and stack empty.
fleopa;  <iBsE wipd QauppBse Goasafld

aufleimssamen eflarasions eflarsEs.

25. Write down the divide and conquer algorithm.

Divide wpmid conquer ewfigpemulenen (algorithm)
CT(PEIS.
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